Objectives - Fri 2/21/2020

Goal: Code correctness
® ... and ways to achieve it

Code coverage
m line

® branch

m path

Memory faults

Valgrind messages
® How to read the memory leak message
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Types of test code coverage

1 “Line coverage” means every line of the code
being tested was executed at least once. |

1 “Branch coverage” means for every N\
conditional jump (If/While/For/Switch), we
took the jump (condition true) and did not
take the jump (condition false) at least once.

"1 “Path coverage” means we tested every
possible path through the code (unique
combination of branches). This can be hard.
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////// IMPLEMENTATION CODE ////// I q Brome L

vqu report. weather(boo? is_sunny, bool 1is ra1n1ng)J{ R T~
@at aféps sunny V, i ﬁg/
printf( The sun is shining.\n"); Vv AL ‘
} o gr——
else { v 7
printf("The sun 1is not shining.\n"); Vv
.
-
.4@V 1F(h§ ra1n1ng} { / 4
Al P printf("It s raining.\n"): V
ks =
ks =

/////7///// TEST CODE ///////////
void test_report_weather_1() { // LINE coverage
report_weather(true, true); // The sun is shining. It is raining.

report_weather(false, true); // The sun is not shining. It is raining.

b

- void test_report_weather_2() { // BRANCH coverage |
report_weather(true, true); // The sun is shining. It is raining.
report_weather(false, false); // The sun 1is nct shining.
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void test_report_weather_3() { // PATH coverage

report_weather(true, true); // The sun 1is shining. It is raining.

report_weather(true, false); // The sun 1is shining. It is raining.

report_weather(false, false); // The sun is not shining.
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report_weather(false, true); // The sun 1is not shining. It is raining.
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